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1. Emma has 7 pens in a box.
5 of the pens are blue.
2 of the pens are red.

Emma takes at random a pen from the box and writes down its colour.
Emma puts the pen back in the box.

Then Emma takes at random a second pen from the box, and writes down its colour

{ay Complete the probability tree diagram.

First pen Second pen

Blue @ E}

Blue

Red !% Q;

Blue K %

Red

reda KRR
{Z)

(b) Work out the probability that Emma takes exactly one pen of each colour from the
box.

BR or RB

5,2 205

2 4 =X =

R T B
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2. In a game of chess, a plaver can erther win, draw or lose.

The probabilify that Vishi wins any game of chess is 0.5
The probability that Vishi draws any game of chess is 0.3

Visht plays 2 games of chess.

(a) Complete the probability tree diagram.

st game 2nd game
OS5 i N
0.9
Win e i Draw
0.3 WPk Lose
025w
.. 9.3
Draw . Draw
B3 Lose
05w
s
Lose Draw
@ vy Lose
(2}

(b)y Work out the probability that Vishi will win both games.

NV\}E M @m{”} ‘)( @QC)S - @GQ_,S
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3. Matthew puts 3 red counters and 5 blue counters in a bag.
He takes at random a counter from the bag.
He writes down the colour of the counter.
He puts the counter in the bag again.
He then takes at random a second counter from the bag.

(a) Complete the probability tree diagram.

Ist counter Znd counter
3
8 Red R ﬁ
3 Red
8 b/g Blus IQ %
Red f}?) Q‘
5
g Blue
Blue B E)

(b) Work out the probability that Matthew takes two red counters.

I e &
Rp - ?,z%x_%im f

e ey Race

£4

{2)
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4, Tom and Sam each take a driving test.
The probability that Tom will pass the driving test is (.8
The probability that Sam will pass the driving test is 0.6

{a) Complete the probability tree diagram.

Tom Sam

Pass P P

R i

*ass @)
y ! .
@\ Fail  F

Pass

Fail

LN T
(Z)
{by Work out the probability that both Tom and Sam will pass the driving test.
FP . O:e¥ v 0. L = 0. 4.9
..... QedD .
(2}

{c) Work out the probability that only one of them will pass the driving test.

PF or FP

‘_‘&

D8 X 0ed 4+ O.2X0:¢
O 3%L + Ocf2

{Total 7 marks)
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5. There are 3 orange sweets, 2 red sweets and 5 yellow sweets in a bag.

Sarah takes a sweet at random.
She eats the sweet.

she then takes another sweet at randont.

Work out the probability that both the sweets are the same colour

Bag

2 red

30 %"&mﬁe

O
R

5 Y elind Y

(00) or (RR) or (YY)

9. :

o9 /0
6
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6. Amy is going to play one game of snooker and one game of billiards.

The probability that she will win the game of snooker is

[FEISI R (I

The probability that she will win the game of billiards is
(a) Complete the probability tree diagram.

snooker bilkiards

Amy E;\! ‘p\/

Wins

Amy’ W:;:\\
wins Amy does @
not win
M
Amy C/)
wins W W
Amy does

L not win Amy does N V\?

not win

@)

{by Work out the probability that Amy will win exactly one game.

(N{\f\} @-r(@ W)

e 3
J2 /2. /2 ©
Amy played one game of snooker and one game of billiards on a number of Fridays.
She won at beth snooker and billiards on 21 Fridays.

(¢} Work out an estimate for the number of Fridays on which Amy did not win either
game. .

PC &A‘Q‘; %‘-”Kz" o w Q/é /‘*im«;: jamj S A ,f:_ - 3 gzx\fgfﬂf’?fﬁt’z}x}&éf

f\jjuwisq é}g ffﬁdﬂ% .3 X {54 ﬁi) ks 05
= g/q_ x 32 ;

(Fotal 8 marks})
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7. Simon plays one game of tennis and one game of snooker. '
The probability that Simon will win at tennis is )

1
The probability that Simon will win at snooker is 3

(a) Complete the probability tree diagram below.

tennis snooker
1 Simon W i
3 wins
Simon
3 wins . —
4 Simon !/\/ W
does not
win
Simon m A
wins V\] W
‘__L Simon
L% does not

win o “’:i’
Simon [ !
does not N
win

(2)
(b) Work out the probability that Simon wins both games. W[ V\f
R
L 3 i
(2)

(c) Work out the probability that Simon will win only one game.

W erwWwW =322 1 L
Ww b LXE ot

o e 3 g7

(Total 7 marks)




